FER—1

T osow

— <T7a—R~HENSHEFIEETOFR>

—_— HER<1> Hexk<2> HER<3> HeER<E5> —_—
4%
—> H e
H
TN
Jia = 40
NO >| B & | \%ﬁ*ﬂﬂ EREE | | HEEHT | &
-/ |
HeEw<a>
(BiRIFoR NEMRHER
<HE> EFHLEFTTOAFEE(CEHNEE) #9355 ~555H
<1>HFERT#E REH 40,000 ~ 100,000
<2>HEEERE XN —E R/ WWHIDRRELYET,
MEARFHH 90,000 ~ 180,000
XEERIEME 5,000 ~ 10,000 /218 B LI D EEK I
XKEWNEERE 4,200M
XX EERE 4,000 ~ 7,000/ /R— %
KmEERE 3,000 ~ 5,000 /#&
H FEENRAC 14,000
[HEDEOHE]<1>+<2> FHMEE A5HH9255 M ~405H
<3>HEBEFEREE FHH 10,000
IR ER 138,000 (FU/NEEDSEANIZTBEFHELSHYED)

EN#RAL (FERIEME) 4,000 x F5RIED
ex: EERIEH3NIZS 10,000+ 118,000+4,000 X 3=140,000
M (LI 1IE#EZ 54812, 40009 DEMLES, )
ORMBEZCHFENIGE RBEERERAZTO/MEM -1RH(X. FIi&30,000MTHLZ(TET, <4
> thfEALIE GERIZR XIS E) $ &

<ERKFHH> ERE FH 30,000 ~ 60,000
FiumEEER 30,000 ~ 60,000
XEERE 4,000 ~ 7,000 /R— %
ERE+FHEMEZER - H1R—CD15E OH: 990,000/
<5> EEREHE AR Th $REN+Z 8% F #k 60,000 ~ 100,000

BEREHRA (35D 6,300 + 600 x F&ERIED
FHHIEE - AEHH9BA~15AH

HEFEA B 201956 A58



